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B. A. (General) EXAMINATION

(For Batch 2017 & Onwards)
(Sixth Semester)
HISTORY OF MODERN WORLD

]

Time : Three Hours Maximum Marks : 80

Note : Attempt Five questions in all, selecting one
question from each Sebtion. All questions

- carry equal marks. Blind candidates may
attempt any other question in lieu of Map
questions. If they wish to- attempt map

question, the explanatory note will. carry
full marks.

Section I

1. Evaluate the causes and effects of the
Imperialism. 16
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Describe the main causes of American
Revolution, ‘1776 A.D. : 16

Write an essay on American Ciﬁl War. 16
Section II

Describe the causes of First World War. 16

Critiéally evaluate the treaty of Versailles. 16

Give the causes and results of the China
Revolution, 1949 A.D. 8+8

Section I

Describe the factors responsible for rise of

Nazism in Germany. 16

Discuss the causes and effects of Second World
War. 8+8

Discuss the genesis of the UN. system. 16
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Section IV

10. On the outline Map of World show the

polarization of World War-1. Also add an
explanatory note.

Or

On the outline map of China show the ‘Long
March’ of Mao. Also add an explanatory note.
10+6

Section V.

I1. (@) Give answer of any three of the

following : 3x2=6

(i) Who discovered America and
when ?

(i) Who was the Ruler of Germany
during World War-I ?

(iti) When did the treaty of Versailles
happen ?
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(iv) Which Prime Minister of England (iii) How many clauses were there in
had to resign due to economic Treaty of Versailles ?

crisis ? (1) 200
(v) Who played a major role in the rise (2) 300
odern Turkey ? - .
of modern ey . 3) 400
(vi) When did the Second World War - C
_ (4) 440
end ? ; "
. iv) When di
(b) Choose the correct answer : 5x1=5 ; 2 N en did Mustafa Kamal Pasha
: y ic ? :
(i) When did the American Civil War : 3 .
begin ? . (1) 1938 AD
(1) 1860 A.D. _ (2) 1930 A.D
(2) 1861 A.D. | (3) 1940 AD
(3) 1862 AD. t (4) 1935 AD
(4) 1863 AD. aTHR (M In which year was the United
(i) Who was the President of America Nations established 2
i 197
at the time of World War-1 ? (1) 1919 AD
(b)/ighonroe 2) 1920 AD
(2) Woodrow Wilson ;
- (3) 1945 AD
(3) Marshal @ _
1
(4) Roosevelt i
2T0,

B-5685 4



(¢) Match the column A with column B : 5

B-5685

A B

(i) Loyd George (1) Presidentof
America

(i) Woodrow (2) Prime Minister

Wilson j of Italy

(iii) Bismarck (3) Emperor of
Ger.many .

(iv) William-II (4) Chancellor of
Germany

(v) Orlando (5) Prime Minister

. of England.

(Hindi Version)

. yoF @UE § UH W g gU, FW Ui

wol IR Afn | g yEA & &ie §EH

| e o aefan @ wafea g

% T W FE I U H Ghd § | AR
3 Trfas o grafyd wed 8@ & TR €
& v foy feomit a9 AW @ R siF AR
ET |

RCLCH|

|. UWREER & SR U ufomm o fawerww
FHifSY | 16

2. owfit wifw (1776 %) & WHE HIOT H
faem e | 16

s TE-g8 W T ey fafaw 116

A

Qug 11

o

o fovags ® HWON H Ieord HIST |
16

5. g #Y G H1 SIS qedih wife |
16

6. 1949 % =t wifa & HRoN v gRomE H
oo Eifs | 8+8

gusg I

7. st A Aciar ® SE % fau st
ol 1 faawer ST | 16
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8. fsﬁuﬁﬁgaa}mqﬁ?ﬂrﬁwﬁam
SULLE ' 8+8

9. WIW T W 3wy = air wfw
16

g v

10.%%%&3@?@%@&%
ﬁwwan@mﬁmﬂﬁfama

Hegar

Tﬁ-ra%mﬁaawmaﬁﬁﬁwwﬁmw

W o reE ol @t fafay |
10+6

Qg v

11.(a)ﬁnﬁ=rﬁmﬂ#ﬁm’fﬁ?=rm‘f%w
gifeg 3x2=6
() s # @ fFed sk w9

il ? '

(ii)umﬁm%maﬁm*

WISF BE oo ?
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(iii) =@l = why wa g ?

(iv)

)

Affw W% & WA Fwe W
YHEEA wE oA ?
afF gHl ® sa H fEme
@ g W ?

(vi) T favags @1 o= w4 gom ?
(q) W& IW & 999 Hifew 5x1=5

(1)

(i)
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A F1 TeIE FA MCH TIA 2
(1) 1860 %

(2) 1861 &

(3) 1862 %

(4) 1863 %.

vyq favags & W s w
Tafs #H oer 2

(1) TR

(2) =0 foeem

(3) =i

(4) wETE
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(iii) méﬁuﬁrﬁﬁmﬂmﬁﬁ? \g‘a)aﬁafﬂam wifea
(1) 200 A B
(2) 300 () waE s (1) swife o Tk
(3) 400 : l* (i) 90 foew  (2) veeh =1 g
(4) 440 _ ' d (iii) ferems (3) = 1 wR
(iv) TWE A T H gy fEw a@ (iv) fafemm fafn (4) st =1 sigen

7
® - (v) dreivel (5) Fve w1 v
(1) 1938 &

(2) 1930 €
(3) 1940 %,
(4) 1935 %
(v) fou = dgw o w9 =

® ?

(1) 1919 €
(2) 1920 %
(3) 1945 .
(4) 1944 %,

10 - (3-08/6) B-5685




